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QUESTION 1

An administrator receives an error indicating that the CVMs in the cluster are not syncing to any NTP servers. An
investigation of the issue finds:

1.

The NTP servers are configured in Prism
2.

The time on all CVMs is the same

3.

Both the CVMs and AHV hosts are configured for the UTC time zone Which two steps can be taken to troubleshoot this
issue? (Choose two.)

A. Confirm that the NTP servers are reachable from the CVMs.
B. Restart genesis on all CVMs.

C. On a CVM. run the command a Hash ntpg-pn.

D. Restart the chronos service on all CVMs.

Correct Answer: AC

Ref:

https://portal.nutanix.com/page/documents/kbs/details?targetld=kA032000000bmje CAA#R eview_ntpq

QUESTION 2

An administrator is notified that a bare metal database server is down. This database server is being served storage
using a Nutanix Volume Group. Upon investigating, the administrator finds that the disks in the database server that
map to the vDisks in the volume group have gone offline.

What is causing this issue?

A. The Volume Group Load Balancer has been disabled.

B. Port 9443 is blocked in the server firewall.

C. Port 3260 has been blocked in the server firewall.

D. A CVM serving the Volume Group has gone offline.

Correct Answer: D

QUESTION 3
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An administrator migrates a VM onto a new Nutanix cluster. After the migration, the administrator observes the following
conditions:

1.

Cluster memory utilization: 64%

2.

Cluster CPU utilization: 19%

3.

Cluster storage utilization: 32%

4,

Average VM CPU utilization: 25%

5.

Average VM CPU ready%: 24%

6.

Average VM memory utilization: 60%

Which two changes should the administrator make to improve VM performance? (Choose two.)
A. Add more memory to the VMs.

B. Reduce the number of vCPUs assigned to VMs.

C. Replace high core count CPUs with high clock rate CPUs. (also can be but is physical invas)
D. Reduce the number of VMs on the hosts.

Correct Answer: BD

ref http://www.joshodgers.com/tag/cpu-ready/

QUESTION 4

A customer has the following requirement for a Nutanix cluster:

1.

Must support high-performance Nutanix Volumes iSCSI workloads Must utilize AHV nodes
2.

Must use 10 GbE interface

How should the customer optimize networking?
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A. Enable Jumbo Frame on just the Host

B. Convert Cluster to ESXi and enable Jumbo Frame on Host and CVM
C. Enable Jumbo Frames on just the CVM

D. Enable the use of Jumbo Frame on Host and CVM

Correct Answer: A

QUESTION 5

A new Nutanix cluster is ready for production on a remote site with no IT staff. Changes to the infrastructure will cost
money and probably cause a cluster stop. The administrator needs to perform a health check on the environment that
should include:

1.

Network connectivity checks

2.

Network performance status

3.

Storage performance status

Which tool should be used to perform this test?

A. X-Ray

B. clurator_cli

C.NCC

D. diagnostic, py

Correct Answer: C
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